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Can you conduct a controlled
| experiment to determine which factorsh:
are most essential for plont growth? |
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ﬁ Plant 1

|

Plant 2

Plant 3

lant 4

mwg_._,@” | Observations

Plant 1

Planf 2

Plant 3

Plant 4
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Plont 1

Plant Z

Plant 3

Rlant 4 _

Date:

Plant1 |

Rlant 2

Plant 3

Plant 4
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HOW Did the besigdn Of Yyour
pPdrrdchute Reduce
Gravitational BUll?
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HEavy and Ligh

Choose 3 pairs of school supplies that will nof

loreck if dropped. Drop two supplies from the

same height al the same time and record your
observarions.

| B
Supply Supply Which Supply |
1 s Landed First? 1 |

Can you consfruct G model

fo represent Earfh's four
sysfems?

15y T

aind clo
NOT affect gravitational pull.

Gravitational pull is af fected By
and .
Air resisiance, or il
slow down the drop of the
parachul
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HOW A" CaGn BE USed ds d
FOrm O& Energy

HOw MY BAllOOR Car
USeS Ail® ds d FOPrm OF ENergy

(€3] By

I

HZW#%C@%H@Z@

Cut the Solo cup in half lengthwise.
Use the hole puncher to poke four holes in the sides of the
poflle (two on each side) very close to the Pottom of the cu
Cul two siraws in half, then siide them horizenlally through
holes 1o make the axies.
Preck alboul 1/3 of ecch wooden skewer of {7, then slide the
remaining pieces inside fhe siraws,
Slide the four Lifesavers around each skewer as wheels
E_voﬁ fape around Ihe skewers on oth sides of the
Lifesavers o keep them from faling of f, lou! make sure Taf g
ihe wheels can still turn freely. B
Test your car by pushing it and moke improvemenis as
necessary. Make sure thaf your car rolls easily.
To create the Jet, put the long end of a flexible sfraw nfoa @
deflated balloon. Use o ruoker band to altach the sfraw 1o
'he balloon So That no air can escape. w
Roke @ hole in the top of the cup nedr the ase and inser! e _w
el so that the balloon comes ouf the fop and the siraw comes ,s
oul the open part on the back. Make sure that the straw is ol w
a slight angle and the end is paralel to the table, NOT pointing |3
upward or downward. Flow in end of the siraw To expand e

T T et e i}

Uo__oo; to its full oouoo_j\_ then let go fo Qon@ the car.
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